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1. BIRE—MERFEHRE T N Visual C++6. 0. Dev—C++Z)HaE—1 C &
. aml RIS BITERR . BEERFENER.

2. i TRE CERBSHEER.

3. AT R R EE A Gnt) FEA R (char) L 7% S & (float . double) B8 8 ) & X FIfH
A, BMEXMER, RERRBEXNBE A (printD i th (scanD B KA .

— AREREHR

1. BRMELFENL,TERBW A H. (Problem 1.Problem 2)
2. BAREFRHEXFMEM. (Problem 5)
» char.int,float,double X 4 2% FHHE,
« short,long.long long X 4 F AN H F2EH,
3. WEMFAMEN, BEEWME X7k HI0 # define N 10 5 const int N=10;
HEMXPRM T IERAFZL . (Problem 4)
4. H0 A A Cprint scanf) M4 R . S8 5 45 B AL A BOHE 3 RUBOHE BOMIA S48 61
ERFABRE o A/ME 7. (Problem 4)
5. MIBMBAREHESAEARREAKHE. (Problem 3)

=. ZHER

L BEHRRFR, BT XNSFEHXE . FR:CEFXORNEFEE, Age Al
age MDA F BT IRF .

2. ZREREHMEMN. FTAKERBOIEEXEHA, FMREAEDL.

3. HARMMBAFRBENEZR, FE.F2RABSEREEXNRERLHH
IR, B ER - NS ERF BT EE XNV, MXRNER AR ET
BRYIIRACEE R R R .

4. BRARRBIENG 5. 258 CIEAPATRIN WG, BORBLHAETS.
AW H I EERMAR GG REEA, UG R¥ I ELRBAIEA.

5. BEETM.ERBAREFL AWM, THRESICERFLERLM L system

(“pause”);1&H] .
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6. scanf IEALEMN,FHEIE & S ISR RAGFRBUR REHERRE".

7. ZfT scanf OB ABEHN T AERABHNZFRERARAF. HAHRE ASE
A7 %,

8. printfO M scanfO PN EH FRABESHRBALE. FRME AL A6 %,

9. {# [ printf FTERE R BET, B /MR ERE x N T RE 8. Hlin,m A float XA K
AR, FEREE 3/ S printdf(“%. 30\n”, m); R %7 3P RILNFER
F L

o, stAEEREUD

AR It 5 M.

(1) {48885 . Problem 1.Problem 2;

(2) hE&MEE . Problem 3,.Problem 4;
(3) *ERE : Problem 5,

h. XRPHRBEE
FREBBEABEG RRERNE.

Problem 1. R AH MG E

o) AR AN EECREXW MRS ZFad . MAmEMEN, ZRE 14
BMARBORES 2 TRANE. HEAER (ot 2D BIFHEXH B,

BANEEHER - BANPHIERZAIUERE, FEXIWNMERUREIINN.E
WASHED int TRKEHEE. BFETHRPH AEREE, @D
5% BEMATLIES 2 XHEMEE.IFA2% B E“The sum is 3 and the differenceis —1. 7,
XAEE 1T,

BEEITHER:

Sample 1.

Please input two integers.l 2 x/

The sum is 3 and the difference is — 1.

Sample 2.

Please input two integers:100 — 45

The sum is 55 and the difference is 145.

Problem 2 : & 7 3§ BV 3048 B9 B\ #0865 HH

BER R RE BT, R RIUY 4 B8 A2 A f S IR A B E (DOR 4D, R
ER=FHmBEAEmENaE. EHER - FAE (char EDERFM, FREH —IE
R(ntEDERFE SR EHA - IMEBEF A M doat EDTRFH. MAN=Z2& 4
—17.
BMASRHER.HERARNE-IFR MWHEF REEIREHANE -8
B ARFR: BRERAANE—T RO REEE. BERHEAETNED: “The sex is M, the
age is 18,and the height is 1. 660000, ”, XAJiF & § —17.

« 2



L RIR RERSXE ‘*’;@’;
EFETHR:
Sample 1:
Please input sex:M y”
Please input age.:18 v~
Please input height.1.66
The sex is M,the age is 18,and the height is 1. 660000.
Samble 2;
Please input sex;F »/
Please input age:19
Please input height:1.71 v/
The sex is F,the age is 19,and the height is 1.710000.

Problem 3 QRiz&

EEHR DM ER(a+b) *x (a—b)to/d, ERMERMA 4 MREBT R, HR
AT BIAEA 4 ASPUON 72 S B (double BD AR B, B X 4 MR L EIH ab.c.d,
REH a.bood RAMME R F KB 45 R 5 5h— A4 B B A 2 (double B 2R
B, REHEGERERNEREH.

R SO BE T 5 B (double B 2R B i E X754 : double a;

UK BE 72 R BUAR B BB A 7 35 s scanf (" 611", &a) ;

U B 17 5 RS B 3 1 07 B0k s printf (" %6117 )

BAEHUHER-BALMERBOCEHESIR KK AEUERPH abcd, XE
d BEAR SR 0, M WME X E R, BIMEm AWK 4 N FERECR 1.5.2.0,10.00,5. 0, 3F
4 B % 5 8] “The result is 0. 250000. 7, X AR E & —47,

BEFETHAR:

Sample 1.

Please input four float numbers:1.5 2.0 10,00 5.0

The result is 0.250000.

Sample 2.

Please input four float numbers;1.1 1.2 1.3 1.4

The result is 0.698571.

Problem 4. R B # K SER

AR CAREMERGEEAB . RZAMBKAEHIE S . BREs Ak Em)
WEAMEE RS E (double BB EXEM. ERFR.AEEX—TRBAPINFESHR
B0 3.14159265, B0 n fH. FMAKARXNK 2 o x R.AKERARNK nx R+ R, HHh
R ABIH ¥R,

MASHHER - WA -TEMNZFSECUAENYEEZ, AHEMNEKSEHR. BHA
W42k 5. 5,384 FE 4 15 4] “The perimeter is 34, 5575, the area is 95. 0332. 7, X A iF &

« 3.
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AT, W GRRE ¢ G/ BURBER SHTED 4 BN BT B prinf (4 %4, 4187,
area) ; “%. 4179 . AR FE R H/MBUR)E 4 0L,

BFEITHR:

Sample 1.

Please input a float number:5.5 y/

The perimeter is 34.5575,the area is 95.0332.

Sample 2.

Please input a float number;100.78

The perimeter is 633.2194,the area is 31907.9263

Problem 5. ¥ #E 3 &Y

AR . CIEFNRFREM T EEMEERE, ¥ AN BERYE 7/ 8 (char
) 45 % B (short ) & 7 (int ) K # R (long B)) . #H B KB & (long long A BAKEEE
TE AU (float ) NURE B 7% A% (double ), BORERF 44l X E R A ISR w3
BAARZEBERIFFEREN abcud.efog. 8 LR IF A XA 28 5%,
BB FESL. REEREXETRAEFMANBEREPFSHFETHR, XEEAZ
HREAR SN RE sizeofO),

B EERNTEREKE X short b;

45 B B A B A scanf (“ Y hd”, &b)

SRR R printf(“20hd”, b)

KB R 25 B Y5 X s long d;

KB AR KA scanf(“ %61d”, &d) 5

KB BB N printf(“X%1d”,d);

long long EIZF B % X :long long e;

long long FAF B AIHIA :scanf(“%11d”, &e);

long long BB M #H : printf (“%11d”,e) .
sizeof () FI FHE: .

AR A E A ERE R G, — int RASR BT 5 NS R LAFY, AT A .

int a=0;printf(“%d\n”,sizeof(a)) ; B #F printf(“ ¥ d\n”,sizeof(int)) ,

TR R siE ANSI CHRruER HiFS T R BB X ¥ long long F4EEE , fm VC 6. 0,
{H VS 2003 DA L IRAYZH.

BMASHEHHER BALRE 7 ML, BN —FEBKEABA. BHEET7
ARG AR 5 — 4T, R — R B BIE R EENFE S HOFE . S m“The
'int’ variable is 2000000000,it takes 4 byte.”,

. ZRTHEZTECEAERBERMAERR —EHENNE. YREETERE D
R EZ B BB R ERERE. X —SES 2 AR UARED. £
L 2~6 NMAAREGE N THRIEXRRNEREE, B EE ERAM B 7 M RmAFR
MR R ENE AR BANFZPREMGFEMHEN, Bt RFK aistex Mg mBEE
BN,

. 4 .
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EFETHR:

Sample 1.

Please input seven parts.

Xy

1234

2000000000 »°

2000000000 ~

500000000000000

1.2345

9.87654321

The result is:

The ‘char’ variable is X, it takes 1 byte.

The ‘short” variable is 1234, it takes 2 bytes.

The "int” variable is 2000000000, it takes 4 bytes.
The “long” variable is 2000000000,it takes 4 bytes.
The ‘long long variable is 500000000000000,it takes 8 bytes.
The “float” variable is 1.234500,it takes 4 bytes.
The ‘double’ variable is 9.876543,1it takes 8 bytes.
Sample 2.

Please input seven parts:

Xy

2000000000 »~

500000000000000

500000000000000 v~
500000000000000500000000000000
123456789123456789 y~

123456'789123456789

The result is:

The ‘char’ variable is X, it takes 1 byte.

The ‘short’ variable is — 27648, it takes 2 bytes.
The “int” variable is 1382236160, it takes 4 bytes.
The ‘long” variable is 1382236160, it takes 4 bytes.
The ‘long long” variable is 2538972135152631808, it takes 8 bytes.
The “float variable is 123456790519087100.000000,it takes 4 bytes.

The "double’ variable is 123456789123456780.000000, it takes 8 bytes.

&
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1. SEiEBEANEE FRAMBIENRA B HAE  AREAIXEEHRAANWERSS .
2. I CEF T i B MR IESR L i DL 1 B I B .

Z ARERESER

1. FRARBEEMERAE TR X scanf(“Y%e”, &m);, B F m=getchar();.

2. BB if--else IBM M, EFEHZEAN , ZEREMEXRES BHXESE
R ARG RER i clse BRI A6 (B if 3% else 3B F ] X2 if - else 4] ;
switch &) HIHEH .

3. BIEEH . while BH MM A Sor BAIMMFER , ERMBEMNIHWAETE—H I ; while i&
4145 do+++while iE /] # X §| ; break i&4] 5 continue B8] X B EF I ] .

4. M A printf $TENH F#AF tab B BA TR XFRHF \UHIEA . (Problem 4)

5. A B ENHNBE . BHFH A for HHRREMH, for A5 while IR REMHH
S EBELSRHRESHA.

=. BH#ER
1. 7E if--else WM B AMFOER S, R MBE = ="#E =", FHRBRBHE
Ritih, EFSREEET A ="HEFENXRBEFET. BECHEFP, = "RRME

BEM,“=="REXFZEMN. CEFTPRERZIANEARESHARAENNEHIEFE
ARE.BNERE. B ifa=0FH“a=0"H I/, if(a=20) h K “da=20"HH K.

2. HREM if---else iBAH,if Fl else WEXTAIER.

3. ifeelse HBELEHF B TREAESFBREF HARFER. Hl.:

if(a>b){
c=d;
f=e; if(a>b)
' c=d;
else{ HE M f=e;
c——3 else
d——3 c——3
} d——3

EHMUABR  AAIRERES  HERBELERY:
if(a>b)

C=d;
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By else B VLELEY if , BT S 3 4R 45

4. DEIFIEAD S AW D B IR P B P A SEE R ; Bt T A8 3 4 3RS 1R 3R 28
BARREEUNSBBEFHATLER . EEFRAQAR S, BEE> >=. < .<=%FEH
FFSWIERER, &N G H B LI —KEE L ERF—KBEL.

5. BALMWMIFURBERESIFERFHABEER. Him.

£=100;
while(t>0)
K BER: [t=100;
cx =10; while(t>0)
t/=10; cx* =10;
y t/ =10;

ELAMNABER  BHIRERES, FRER AT REER cx =10; , AT HERFH A
a5 .

6. while i&4]45 do---while iIHEHMIEWE , BB X R IF AR LR W BB, BA5%
R R

7. switch IBEA]HFH case iIBEAIB A H B break iI54], EFHR switch &4 AR
f§i i break IBH KX F] .

PO, SCIOE B M ER D

ALt 11 4.

(1) {855 .Problem 1~Problem 4;

(2) %3 BF B . Problem 5~Problem 7;
(3) ¥ .Problem 8~Problem 10;

(4) EXE . Problem A,

A, XRPBROEE

IR kL . (Problem 1,Problem 2)

FHRH ASCII E{E , FR K /P . (Problem 2)

R B M PEIR LM . (Problem 3)

FTERHIRAT tab, B E M IR, (Problem 4)

PHE R B GEHM  sqrt O BB B, BIARITHE . (Problem 5)
HXEBEHRSHWEE. (Problem 6~Problem 8)
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7. R MIER#E., (Problem 9)
8. RYE e BIE H ,switch BEAIHMEH. (Problem 10)
9. long long FUAs B i 7 F , B 2F M AR LT BB SRR A . (Problem A)

Problem 1 ; ¥ B & 8 89 K /I

B R B A T, i else PR SSHB & 075 BB KBS FE R, 7 5
max A5 B s B E/MNEGR B SR R min R PR RET

MANSEHER A QERNBE, &5 7, AEBAR. WA NEETLUERE,
#i1“The two numbers are equal. ”, 5§ —4T . ¥ AR AT, % il 1“The larger number
is 100,the smaller number is 25. 7, 5§ —47,

BEEBITHNR:

Sample 1.

Please input two integers;100 25 y/

The larger number is 100,the smaller number is 25.

Sample 2.

Please input two integers;100 100 »~

The two numbers are equal.

Problem 2 : ¥ B7 == & 0 40

5 B A B AR R 3 AN A B R B, g 3 M FRMESHENES 1 F
5% 2 AF AL, B 2 NFFEE 3 NFEARE, M abe”, “bed”, “XYZ7E, BN
AR P MR R K TR F R R AAEAS. WA EWNRE -1, WAL, fiin‘a’—
‘b’=—1,M‘a’ 5 ‘b’ 4B,

HE R 3SANFRPEIEFRNBA FIWEE RN RS, s A “1237,“122” B
KA.

MANSWMHER WALE S NFRH . UEELR, 7, X 3N FHRZABEEH.
Wk A 3 DNFEASEET 3 “The letters are adjacent with each other. ”; & %y i} “The
letters are not adjacent with each other. ”,

BFETHR:

Sample 1.

Please input three char:abc

The letters are adjacent with each other.

Sample 2.

Please input three char;AbC y”

The letters are not adjacent with each other.



